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	Internal Assessment Test 1 – September 2018

	Sub:
	Artificial Intelligence
	Sub Code:
	15CS562
	Branch:
	CSE

	Date:
	10/09/2018 AN
	Duration:
	90 min’s
	Max Marks:
	50
	Sem / Sec:
	5/ A,B And C
	OBE

	Answer any FIVE FULL Questions
	MARKS
	CO
	RBT

	1 (a)
	Define Artificial Intelligence. List two real world examples.
	[04]
	CO1
	L1

	   (b)
	Explain any two algorithms to solve the TIC-TAC-TOE problem. Interpret your results by tracing the algorithm step-by-step.
	[06]
	CO1
	L2

	2 (a)
	 Identify a good state space representation for the Tower of Hanoi problem.
	[04]
	CO1
	L2

	   (b) 
	Construct the production rules and solve the Tower of Hanoi problem.
	[06]
	CO2
	L2

	3 (a) 
	 Identify the situation where the concept of heuristics is applied and explain about              Constraint Satisfaction Problem with an example.
	[06]
	CO1
	L2

	   (b)
	Explain the Breadth-First Search and demonstrate how the state space tree for the water-jug problem is parsed.
	[04]
	CO2
	L2
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	4 (a)
	 Interpret a heuristic function for travelling salesman problem.
	[04]
	CO2
	L2

	   (b) 
	Explain the working Depth-First Search with an example and demonstrate how it is different from best first and breadth first search.
	[06]
	CO2
	L2

	5 (a)
	 Differentiate between OR and AND-OR graphs with an example.
	[04]
	CO2
	L2

	   (b) 
	 Construct the production rules and solve the Water-Jug problem.                                                                                                     
	[06]
	CO2
	L2

	6  (a)
	 Explain about hill climbing algorithm.
	[04]
	CO2
	L2

	    (b)
	 Summarize the variations of hill climbing algorithm.
	[06]
	CO2
	L2

	7  (a)
	 Describe about the four knowledge representation approaches.
	[06]
	CO2
	L2

	   (b)
	 Illustrate the mapping between facts and representations.
	[04]
	CO2
	L2
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